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Respuestas

Ej. 56

1. 108

2. 48

3. 108

4. 56

5. 78

6. 162

7. 105

8. 60

9. 84

10. 102

Usar la propiedad distributiva para resolver cada problema.

Ej) 14 × 4 = (5 × 4) + ( 9 × 4 )
=

5620 + 36

1) 6 × 18 = (6 × 9) + ( 6 × 9 )
=

10854 + 54

2) 3 × 16 = (3 × 6) + ( 3 × 10 )
=

4818 + 30

3) 18 × 6 = (8 × 6) + ( 10 × 6 )
=

10848 + 60

4) 14 × 4 = (7 × 4) + ( 7 × 4 )
=

5628 + 28

5) 13 × 6 = (9 × 6) + ( 4 × 6 )
=

7854 + 24

6) 9 × 18 = (9 × 9) + ( 9 × 9 )
=

16281 + 81

7) 7 × 15 = (7 × 7) + ( 7 × 8 )
=

10549 + 56

8) 5 × 12 = (5 × 7) + ( 5 × 5 )
=

6035 + 25

9) 14 × 6 = (6 × 6) + ( 8 × 6 )
=

8436 + 48

10) 6 × 17 = (6 × 9) + ( 6 × 8 )
=

10254 + 48
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